

Omagbemi Aaron

16/EK1606/loss

Mechanical Engineering

Eng 281

1.

$$a. \lim_{x \rightarrow \frac{\pi}{2}} \frac{x^2 - \frac{\pi^2}{4}}{x - \frac{\pi}{2}} \sin(\cos x)$$

$$\lim_{x \rightarrow \frac{\pi}{2}} \left[\frac{(\cos \frac{\pi}{2})^2 - \frac{\pi^2}{4}}{\frac{\pi}{2} - \frac{\pi}{2}} \sin(\cos \frac{\pi}{2}) \right] = \text{undefined}$$

$$y = \sin(u) \quad u = \cos(x)$$

$$\frac{dy}{du} = \cos(u) \quad \frac{du}{dx} = -\sin(x)$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx} = \cos(u) \times -\sin(x) = \cos(\cos(x)) \times -\sin(x)$$

$$F(x) = x^2 \cos(\cos x) \sin x + 2x \sin(\cos x) + \frac{\pi}{4} \cos(\cos x) \sin x$$

$$\lim_{x \rightarrow \frac{\pi}{2}} F'(x) = -\frac{\pi^2}{4} \cos(\cos \frac{\pi}{2}) \sin \left[\frac{\pi}{2} \right] + 2 \left[\frac{\pi}{2} \right] \sin \left[\cos \left(\frac{\pi}{2} \right) \right] + \frac{\pi}{4} \cos \left[\cos \left(\frac{\pi}{2} \right) \right] \sin \left[\frac{\pi}{2} \right]$$

$$= -\frac{\pi^2}{4} \cos(0) \times 1 + \sin(0) \times \pi + \frac{\pi}{4} \cos(0) \times 1$$

$$= -\frac{\pi^2}{4} \times 1 + \frac{\pi}{4} \times 1$$

$$= -\frac{\pi^2}{4} + \frac{\pi}{4} = \frac{-\pi^2 + \pi}{4}$$

$$\lim_{x \rightarrow \frac{\pi}{2}} \left[\frac{x^2 - \frac{\pi^2}{4}}{x - \frac{\pi}{2}} \sin(\cos x) \right] = \frac{-\pi^2 + \pi}{4}$$

$$1b \quad \lim_{x \rightarrow \frac{\pi}{2}} \ln \left[\csc \left(\frac{3x^2 + 2x - 1}{2 + 1} \right) \right]$$

$$3\left(\frac{\pi}{2}\right)^2 + 2\left(\frac{\pi}{2}\right) - 1 \quad \text{cancel} = 3.71$$

$$\left(\frac{\pi}{2}\right) + 1$$

$$= \ln \left[\csc (3.71) \right]$$

$$= \ln [40.85]$$

$$= 3.71$$

$$1c \quad \lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\sin^{-1} \left(\frac{x-2}{x-\sqrt{3}} \right) \right]$$

$$\lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\sin^{-1} \left(\frac{2 + \sqrt{3} - 2}{2 + \sqrt{3} - \sqrt{3}} \right) \right]$$

$$\lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\sin^{-1} \left(\frac{\sqrt{3}}{2} \right) \right]$$

$$\cos(60)$$

$$\lim_{x \rightarrow 2 + \sqrt{3}} \cos \left[\sin^{-1} \left(\frac{x-2}{x-\sqrt{3}} \right) \right] = \frac{1}{2}$$

$$1d \quad \lim_{x \rightarrow 4} \left[\frac{x^2 - 5x + 16}{x^2 - 5x + 4} \right]$$

$$\lim_{x \rightarrow 4} \left[\frac{4^2 - 5(4) + 16}{4^2 - 5(4) + 4} \right] = \text{undefined}$$

$$\lim_{x \rightarrow 4} \left[\frac{2x - 8}{2x - 5} \right]$$

$$\lim_{x \rightarrow 4} \left[\frac{2(4) - 8}{2(4) - 5} \right] = 0$$

$$2_n = \frac{2}{2^{13}} + \frac{2}{3^{14}} + \frac{2}{4^{15}} + \frac{2}{5^{16}}$$

Using Steward's Series

$$\frac{2}{2^p} + \frac{2}{3^p} + \frac{2}{4^p} + \frac{2}{5^p}$$

When $p=2$

$$\frac{2}{2^2} < \frac{2}{3^2}, \quad \frac{2}{3^2} < \frac{2}{4^2}$$

It Converges

$$b) \frac{2}{1^2} + \frac{2}{2^2} + \frac{2}{3^2} + \frac{2}{4^2} + \dots + \frac{2}{n^2}$$

Recall of $R > 1$ it Converges

If $R < 1$ it diverges

$\frac{2}{n^2} = R = 2$ The series Converges

$$2k) U_n = \frac{1+2n^2}{1+n^2}$$

$$U_{n+1} = \frac{1+2(n+1)^2}{1+(n+1)^2} = \frac{2n^2+4n+3}{n^2+2n+2}$$

$$\frac{U_{n+1}}{U_n} = \frac{2n^2+4n+3}{n^2+2n+2} \times \frac{1+n^2}{1+2n^2}$$

$$= \frac{(1+n^2)(2n^2+4n+3)}{(1+2n^2)(n^2+2n+2)}$$

$$= \frac{2n^4+4n^3+5n^2+4n+3}{2n^4+4n^3+5n^2+2n+2}$$

$$= \frac{4n^3+3}{2n+2} = \frac{2n + \frac{3}{2}}{2 + \frac{3}{2}} = \frac{4}{2}$$

$\frac{4}{2} = 2 > 1$: It Converges

$$3. \frac{x}{2^7} + \frac{x^2}{125} + \dots + \frac{x^n}{(2n+1)^3}$$

$$|u_n| = \frac{x^n}{(2n+1)^3}$$

$$|u_{n+1}| = \frac{x^{n+1}}{(2n+3)^3}$$

$$\frac{|u_{n+1}|}{|u_n|} = \frac{x^{n+1}}{(2n+3)^3} \times \frac{(2n+1)^3}{x^n}$$

$$= \frac{x^{n+1}}{2n^3 + 18n^2 + 54n + 9} \times \frac{2n^3 + 6n^2 + 6n + 1}{x^n}$$

$$= \frac{x(6n^2 + 6n + 1)}{18n^2 + 54n + 9}$$

$$= x \left(6 + \frac{6}{2n} + \frac{1}{2n^2} \right)$$

$$\frac{|u_{n+1}|}{|u_n|} < \frac{6x}{18}$$

$$\frac{6x}{18} < 1$$

$$6x < 18$$

$$|x| < \frac{18}{6}$$

$$|x| < 3$$

$$4. \lim_{x \rightarrow 0} \left[\frac{\sin 2x - \cos x}{3x^3} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{\sin(0) - \cos(0)}{(0)^3} \right] = \text{Undefined}$$

from L'Hopital (ow

$$\lim_{x \rightarrow 0} \left[\frac{\cos x + \sin x}{3x^2} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{\cos(0) + \sin(0)}{3(0)^2} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{-\sin x + \cos(2x)}{\cos x} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{-\sin(0) + \cos(0)}{6} \right] = \text{Undefined}$$

$$\lim_{x \rightarrow 0} \left[\frac{-\cos(0) - \sin(0)}{6} \right]$$

$$\lim_{x \rightarrow 0} \left[\frac{\cos(0) - \sin(0)}{6} \right] = -\frac{1}{6}$$